B O RATLRERGE TS

PWM

BT s
515l L
EH

S LR SEN B ShaE ], 32 SRR LG A AR AT LT B
KT A, 50 T4 A5 T 26 B R ik TR AN R
SRR L2350 R RE P AR SR R o I RERE AR K34, ST 2
FERS SR A P ) O (R T SEHL AR G S P Bl Y o LI A 5K, K 8 shiz il
BORNHIT-#E DT R G, JEAENHE g A SR A RN B R
RN, BN SRR RAT O T O, IR AT AT RO B A
A IR dr, RINIE T EU A N B8 5 2 eAs, BT R

SV G AL 25

— BHHEK

2

. RGrEHE




Lo i s 4 W A4y =X

© ZIGBEET PMffilse ; @
.' ZIGBEETF P ¥ 5 | @ ‘ P
| ZIGBEERSHAT R l,' ‘ B i | @
) ) l | '75’ | ’ | >
Bl x -;‘w
3 ‘ ’ | & ‘

Internet '

2 JELIH R A Az i s 21 M A

©  ZIGBEEfEBERSML & @ =
w ZIGBEEIEEE B HiER &‘3’, ‘ f»@ \
) szEEEﬁHE%Mﬁw ‘ ‘(f’?@‘ ‘ f&f» XGPRS
2o [0, TrellTr., @R
[ I P | | 9 1 ) [ | @®
[P | | Te A 1| ¥
| ” ® s
Al |
° . - e, ‘ ‘w ‘ ;"
ﬁﬁ#lﬁlﬂ"féﬁ “\"é’ ~ .
* WL TR | o
o T S |

= REMm
L WL AT i

FATAT A S I R GER AL G T B SO “ A HEAE AR
B AR T RITT N GAEREREE, BRI T 4EB A i HAR RS
TR 2 AT CRIE T M AR SR ACIRGS, A4k 1 4R I 1)
e TRBRCR; bR TR I 2 5 -

2+ WHAKREM AL S



AT KT L A R G RESR Ry T/ ST (K T SE AT s A, 8 o 1 RSk
THOLHI L A, RGER DG NS AN S5 5 67 %€, AR TUE AN TR)
DB AR ' HERE P i AEAT T ERO%, - BRREAE BH RT X H 3h A8 K B I T,
SCREAENS I R A 4 A SRV I [A) ;S 845 It B P A2 5337 AR N B ]
iR, SCRESR T AT RCTETT A, b TR IR TA), T4 7 R
HE
3. Rkl HAgdr, FRistr oA

A TP, A T AT B A i, FRARIsAT A, 3w T
LT R A o
4. SCLAZHUFSRIAE, b F B SO

AT I R G RATIERE A Shyb RN R 2 T e, AR, B
BEAFE (1 V) PR RS N K 3R A TS, Al FTED, BEIN 7% H it
Ol SERMATRCE B, BRSO, Rmait .

24
() JE I PRI AR Sy 50T 5 2T i i 3

AT R SR A

30735 & Uk AW 1000 1IKW X 11H X
YENEIX 1
4l W 365
25730 7 B AN 0.8KW X 11H
YEMKIX 2 800W
M 4l X 365

VE: BURBUE L 50 AT RATAT  SEATEATATAC 12 384T 2T I 1A] 18:3075:30
NS,

4015 KWH

3212 KWH



SRR kX eR, RN 2 &

AR AN R IR TR) B b i B e B A A 1580 s 8 DR IX e
HEWIDCIR 50%THEL, REFE R HIE N 41, Th,

BUAT TS OUEE R AL 50 AF*12 311 /N 1KW=6600KWH
SICER B2 i 5 R R FE
[50 #F%50%%12 %11 /NE=1KW ]+ [50 #F%50%%2 %11 /1KW1 = 3850KWH
AR B A5, RV AR ATBE—. B 5%

R AR A [7) B 18] B b 75 B 5 KT VR TTF IR AR, BAEAEV Xy 3 b 0 DX FF) 40%
VL, RHAETY A RN 30.0% (FE—) .« 40.0% (Fg—) .

b — 2 AF R FE . [50 AT*40%k12 %11 /NEF*1KW]Y + [50 FF*60%%6 %11
ANIFRIKWY = 4620KWH

B —rnAERREHL: (50 FF#40%%12 Fx11 /N*IKW] + [50 FF#60%k4 35%11
/NP IKW] = 3960KWH

S HRZ: X AT 4 M4, J5 7 /g —. s Bk B
AR 31.8% (FE—)  42.4% (fF—)
B — e AR AE L [50 FT*12 254 /NEF1KWY + [50 FF+6 %7 /NEF1KW] =

4500KWH

B SERERRE L (50 AT#12 a4 /NI IKWY + (50 14 2557 /NF*1KW] =
3800KWH



